CONSTRUCTION NOTES:

TRAFFIC SIGNALS EQUIPMENT DISPLAY:
N.T.S.

PARR STREET

V:\Traffic Signals\01. Intersections\01. Pending\Inkster & Parr S-2199\02. Design\Preliminary_Inkster & Parr S-2199.dwg

S.
PROJECT SCOPE
1. INSTALL CONDUIT AND BASES AS SHOWN. \
2. INSTALL SERVICE AND GROUND ROD ON WOOD POLE #5 AS SHOWN. INSTALL PARR STREET
MAST AND DISCONNECT ON XX QUADRANT. INSTALL WEATHER HEAD 150mm
LOWER THAN THE LOWEST HYDRO WIRE. TOTAL LENGTH OF SERVICE CABLE: w 4, El
15m. . <
00
3. INSTALL EQUIPMENT AS SHOWN.
INSTALL LOW FLASHERS AT HEIGHT OF 2.6m (8'—6") ABOVE THE BASE. ° §
PEDESTRIAN SIGNS TO BE 4’ BELOW LOW FLASHERS. o ~
5. CROSSING TIME FOR NORTH CROSSWALK: 16 SECONDS, SOUTH CROSSWALK:
17 SECONDS.
1005 ) 3.50
PROJECT COORDINATION
1. COORDINATE WORK WITH (CA’s NAME), (204) XXX—XXXX.
2. COORDINATE HYDRO SERVICE INSTALLATION WITH (TOM HUMBLE), (204)
583—1289. RE: JUTA PERMIT No. B27552
(]
o
S
-
-
o
(a1]
INSTALL MAST v
0 AND DISCONNECT o)
< & R =B ON XX QUADRANT —_| BlR Q] =
NI | | |0 n| N wn
N \ 5. R é
-/ —
/ J X
0: u
!
o ¢
o |
(X:! ¥
- | ) 2
& 1 1D
<
> [ :
3.8\ IS
- ! AN '/ ' Q™
S = : \\ / 4" ARM CLAMPED INTO
®) l POLE AT 8'—6" HEIGHT T%
m % | | / % 1.9 |3
I g \ I
= 2)| V) \ (
X ) =
Z = [ — L
o g
/ “ l /
o | PROPOSED CATCH—BASIN
; i AND LEAD BY OTHERS (TYP.)
] )\
| [N -
1 ‘ . AN // I ‘ EQUIPMENT DISPLAY LEGEND |NoO. EQUIPMENT LIST ARM [BASE| B.B. | | NO. EQUIPMENT LIST ARM |BASE| B.B.
_ 7 | - -
\ \ 1 3\ /[ . i EISTING 1. | CANTILEVER 12" | OD | DC
i 1 ) - TOPSSVE/DN BELOW
ol ol o o \sus sTop = \ / ol ol o (s sronmBELOm 2. | CANTILEVER 8" | oD | DC
el = = —| ™ e % PEDESTRIAN HEAD WITH PCS
NIl ] @] =TS TE LINE (NOT IN USE) S T.S. TIE LINE (NOT IN_USE) ey Ig 3. | CANTILEVER 8 | 0D | DC
TO ARLINGTON ST., SEE DWG. S—1196 3 FROM McKENZIE ST., SEE DWG. S—1196
o PEDESTRIAN CORRIDOR BOX 4 | CANTILEVER 5 1 0D | DC
— ROADWAY AND SIDEWALK CONSTRUCTION mw—mm RRFB CONTROL BOX
= TO BE COMPLETED BY OTHERS (TYP.) A (PRASE ™A OR'®)
L
5.
§ VEHICLE DETECTION AREA SERVICE:
o PB PUSH BUTTON & DIRECTION
O‘ — (APB = AUDIBLE PB)
_H
OWEB  APS SINGLE DIRECTION
N
10.05 DY ocomwat sinsersy
% TRAFFIC SIGNAL HEAD
3.00 4.25 ©
INTERNAL REVIEW o TRAFFIC SIGNAL POLE TRAFFIC SIGNALS UNDERGROUND LEGEND SIGNAL BASE BOLT SQUARE TYPES
TIMINGS (INITIAL): EXISTING PROPOSED (AS SHOWN BELOW) DIA.
NEW TIMINGS? DATE INITIALS . WOOD POST ABANDONED DISCONNECTED (LOOPS ONLY) BOLT SQUARE (B.S.)
TIMINGS (PRE-IFC):
NEW TIMINGS? DATE INITIALS 11/2" PE CONDUIT —— — POLE BASE o) TYPE"A"-8 1/8" -
OPERATIONS: w FECTRONIE DISAY 2" PE CONDUIT e WOOD POST o KEE <B: — Z ?//z" SCREW TYPE C \3
DAYS REQUIRED DATE INITIALS "C"- " -
UNDERGROUND 4" PVC CONDUIT ——en - CONTROLLER BASE TYPE "D" - 12 3/4", 1 1/4" DIA. BOLTS, 24" DIA.
CONSTRUCTABILITY: SVSREGURED e T ® RED FLASHER TYPE "OD" - 12 3/4", 1 1/4" DIA. BOLTS, 28" DIA.
LAB: AERIAL/BURIED CABLE ~ ———— PEDESTAL BASE Fl TYPE "POD" - 12 3/4", PRECAST, 1 1/4" DIA. BOLTS, 28" DIA.
REQUIRE IFC DWG? DAYS REQUIRED DATE INITIALS @ ﬁ/z’v}SAtE—RC'IT‘\’LCAUﬁmﬁl\'}BER) CONDUIT STUB —_ TERMINAL BASE TYPE "E" - 9 9/16" SCREW TYPE
PLAN VIEW: UNDERGROUND CONSTRUCTION o0 - servcesoxem O T oA BOLTS. S9mm PROL
STREET LIGHTING: 1:250 D LUMINAIRE SPLICE = - — 24" PRECAST PIT A TYPE "GS" - 8 1/8", 1 1/4" DIA. BOLTS, 76mm PROJ.
DATE INTIALS 50" PRECAST PIT A TYPE "PG" - 8 1/8", PRECAST, 1 1/4" DIA. BOLTS
TRAFFIC MANAGEMENT: __ __ © CAMERA SAW.CUT LOOPS W e oreoner o @ Kgg "::"-_7937;? SCREW TYPE
. TYPE "J" - 10 5/8", 1 1/4" DIA. BOLTS
@ LOW ARM (SHOWN FROM CENTRE) TYPE "K" - 10 5/8", PRECAST, 1 1/4" DIA. BOLTS
HIGH ARM (SHOWN FROM SIDE) PREFORMED LOOPS % REMOVAL Ve R TYPE "L" - 6", 5/8" DIA. BOLTS
TYPE "PM" - 8 1/8", PRECAST, 5/8" DIA. BOLTS
WATERMAN | — 150 WM PROPERTYLINE | — — — — TELEPHONE —TELEPHONE UNDERGROUND STRUCTURES CONSTRUCTION REVISIONS rocomTs FOINEERS SR
HYDRANT & ROADWAY COMMUNICATION COMMUNICATION C.H./R.S. WT PENDING (& THE CITY OF WI N |QIPEG
VALVE ® SIDEWALK WOOD POLE oW PENDING DESIGNED BY /—\
SHUTOFF VALVE o>‘ CURB & CURB RAMP - — STREET LIGHT o UNDERGROUND STRUCTURES ID DATE (vvyymmiop) Wo ° PU BLIC WO RKS DEPARTM ENT
SEWER 300 SEWER WARNING TILE B3 BANNER POLE o PENDING RS. PRELIMINARY lnmpeg TRANSPORTATION DIVISION
DRAWN BY
MANHOLE Q CULVERT E::::::: RAILWAY POLE 5% #LAEBDIIEIII/I_ IillFSOCF;{Il:/l'i'll'll\gﬁRF’F{'\CI)SI-IDSIIECDEFOR YOUR CONVENIENCE HEREIN NOT FOR
WATER & WASTE REVIEW ID UNITS:
CATCH BASIN D BUILDING 777 GUY-WIRE % CH SE';OAE-;JMS:NﬁT YOSﬁ’:S_WNAZEUKMEHEI\?éTY g;sv::l’lgNNISTBEE;TPYUBI;gF\{NO?fE CONSTRUCT'ON ALL DIMENSIONS ARE IN METERS
CURBILET v TREE @ FENCE " " LNO?:-/!\-‘II'EI;NS OF UNDERGROUND STRUCTURES AS SHOWN ARE BASED ON THE BEST creTeR ey Efggomsgs:gl’:‘;ﬁgg A'E':fo{’\zfii%gNSB'LOS\;ER(%EZE;E%E'ESOE:&?NB“EE PEDESTRIAN CORRIDOR JIESS OTHERHISEROTED
oo [ oo oo | _wes T S T N Wt SR A INKSTER BLVD. & PARR ST.
EXACT LOCATION OF ALL SERVICES MUST BE OBTAINED FROM THE INDIVIDUAL UTILITIES A ISSUED FOR INTERNAL REVIEW 2024/02/23 RS WHATSOEVER TO ANY PARTY FOR INJURY, LOSS OR DAMAGES S 21 99
EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED EXISTING LEGEND PROPQOSED | serore PROCEEDING WITH CONSTRUCTION. NO. | REVISION DATE BY ﬁggLEiﬁf’s?,:F%UwaHAimy ARISING FROM THEIR USE OF, OR RELIANCE -
. (YYYY/MM/DD) APPROVED BY g



AutoCAD SHX Text
12'

AutoCAD SHX Text
8'

AutoCAD SHX Text
8'

AutoCAD SHX Text
8'

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
4' ARM CLAMPED INTO POLE AT 8'-6" HEIGHT

AutoCAD SHX Text
1.

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
APB

AutoCAD SHX Text
APB

AutoCAD SHX Text
APB

AutoCAD SHX Text
APB

AutoCAD SHX Text
(25°)

AutoCAD SHX Text
(205°)

AutoCAD SHX Text
(25°)

AutoCAD SHX Text
(205°)

AutoCAD SHX Text
W

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
300 WM

AutoCAD SHX Text
300 WM (ABAND.)

AutoCAD SHX Text
600 FM

AutoCAD SHX Text
375 SEWER (ABAND.)

AutoCAD SHX Text
375 SEWER

AutoCAD SHX Text
300 HP GAS

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
300 WM

AutoCAD SHX Text
300 WM (ABAND.)

AutoCAD SHX Text
600 FM

AutoCAD SHX Text
375 SEWER

AutoCAD SHX Text
300 HP GAS

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
1500 SRS

AutoCAD SHX Text
600 SEWER

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
450 SEWER

AutoCAD SHX Text
150 WM (ABAND.)

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
T.S. TIE LINE (NOT IN USE) TO ARLINGTON ST., SEE DWG. S-1196

AutoCAD SHX Text
T.S. TIE LINE (NOT IN USE) FROM McKENZIE ST., SEE DWG. S-1196

AutoCAD SHX Text
1.

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
INSTALL MAST AND DISCONNECT ON XX QUADRANT

AutoCAD SHX Text
PROPOSED CATCH-BASIN AND LEAD BY OTHERS (TYP.)

AutoCAD SHX Text
2900 SRS

AutoCAD SHX Text
2900 SRS

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
1.

AutoCAD SHX Text
12'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
2.

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
3.

AutoCAD SHX Text
PLAN VIEW: UNDERGROUND CONSTRUCTION 1:250

AutoCAD SHX Text
PARR STREET

AutoCAD SHX Text
INKSTER BOULEVARD

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
HYDRO WOOD #0106047

AutoCAD SHX Text
SERVICE:

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
P

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
R

AutoCAD SHX Text
12'

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
INKSTER BOULEVARD

AutoCAD SHX Text
PARR STREET

AutoCAD SHX Text
8'

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
8'

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
8'

AutoCAD SHX Text
CONSTRUCTION NOTES: PROJECT SCOPE 1. INSTALL CONDUIT AND BASES AS SHOWN. INSTALL CONDUIT AND BASES AS SHOWN. 2. INSTALL SERVICE AND GROUND ROD ON WOOD POLE #5 AS SHOWN. INSTALL INSTALL SERVICE AND GROUND ROD ON WOOD POLE #5 AS SHOWN. INSTALL  INSTALL MAST AND DISCONNECT ON XX QUADRANT. INSTALL WEATHER HEAD 150mm LOWER THAN THE LOWEST HYDRO WIRE. TOTAL LENGTH OF SERVICE CABLE: 15m. 3. INSTALL EQUIPMENT AS SHOWN. INSTALL EQUIPMENT AS SHOWN. 4. INSTALL LOW FLASHERS AT HEIGHT OF 2.6m (8'-6") ABOVE THE BASE. INSTALL LOW FLASHERS AT HEIGHT OF 2.6m (8'-6") ABOVE THE BASE. PEDESTRIAN SIGNS TO BE 4' BELOW LOW FLASHERS. 5. CROSSING TIME FOR NORTH CROSSWALK: 16 SECONDS, SOUTH CROSSWALK: CROSSING TIME FOR NORTH CROSSWALK: 16 SECONDS, SOUTH CROSSWALK: 17 SECONDS. PROJECT COORDINATION 1. COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. 2. COORDINATE HYDRO SERVICE INSTALLATION WITH (TOM HUMBLE), (204) COORDINATE HYDRO SERVICE INSTALLATION WITH (TOM HUMBLE), (204) 583-1289. RE: JUTA PERMIT No. B27552

AutoCAD SHX Text
CONTROL BOX


	Sheets and Views
	A1


